
Stock silencer assembly

Remove stock clamp band.

110-269-5W 180413fj-1 1/4

SPECIAL　PARTS　TECHNICAL　SERVICE　MANUAL

KAWASAKI Z900RS / Z900RS CAFE Slip-On R-77S サイクロン EXPORT SPEC 政府認証

ロットナンバー/サイクロン型式は、この部分に

レーザーマーキングされています。

２.セット内容

１.適応車種及び諸元表

110-269-5W 180413fj-1 2/4 110-269-5W 180413fj-1 3/4 110-269-5W 180413fj-1 3/4

　１．ＳＥＴ内容を確認して下さい。

３.取付方法

！注意 ※作業時は部品を損傷しないよう注意して作業を行なって下さい。

※ボルト、ナット締め付けの際は必ず規定トルクを守って下さい。

　ボルト、ナットの脱落・製品の破損の原因になります。

ＦＩＧ．２

ＦＩＧ．４

ＦＩＧ．５

ＦＩＧ．１

　２．メーカー発行のサービスマニュアルを参照し、スイング 

　　　アーム等を傷つけない様に注意しながら純正サイレンサ

　　　ーを取り外して下さい。取り外した純正ボルト、ワッシ

　　　ャ、ナットは本製品取り付けの際に使用します。

　　　（ＦＩＧ．１参照)　

ＦＩＧ．３

　８．車両後方から見てサイレンサーの角度やマフラーと車両

　　　のクリアランスを調整し、クランプバンド→サイレンサ

　　　ーステーの順に規定トルクで締め付けて下さい。

　　　（ＦＩＧ．８，９参照）

！注意 規定トルク　　クランプバンド　　　　　　：１５Ｎｍ

　　　　　　　サイレンサーステー(Ｍ６)　：１０Ｎｍ

　　　　　　　サイレンサーステー(Ｍ８)　：２３Ｎｍ

１０．中性洗剤、ウエス等でマフラー全体を良く脱脂して下さ 

　　　い。指紋などが付着したままエンジンを始動すると、色 

　　　ムラとなって残ってしまうことがあります。

１１．暖気運転を行なって排気漏れが無いことを確認し、エン

　　　ジンが完全に冷えてから各ボルトの増し締めを行なって

　　　下さい。

１２．走行中アフターファイアーが激しく鳴る場合は、テールパイプとサイレンサーとの差し込み部に、市

　　　販のマフラー用液体ガスケット等を塗りシーリングを行って下さい。

　　　作業はエンジンが完全に冷えてから行って下さい。

　３．外した純正サイレンサーから、クランプバンド、ガスケ

　　　ットを取り外して下さい。取り外したクランプバンド及

　　　びガスケットは本製品の取り付けに使用します。

　　　（ＦＩＧ．２参照)　

ガスケット、クランプバンド

を取り外す

純正サイレンサー

①テールパイプ

手順３で外した 

クランプバンド

　９．マフラーと車両各部が干渉していない事を確認して下さ 

　　　い。干渉している場合はクランプバンド、サイレンサー

　　　を留めるボルト・ナットを緩め、干渉しない位置に再度 

　　　調整して下さい。

ガスケット

　４．①テールパイプに、手順３で外したクランプバンドとガ

　　　スケットを取り付けて下さい。（ＦＩＧ．３参照)　

メタルマジックカバーのサイレンサーは、パーツクリーナー

等が付着すると塗装が剥がれてしまいます。中性洗剤以外で

のクリーニングは絶対に行わないで下さい。

！注意

Z900RS

ps

rpm

：純正マフラー

：ヨシムラ

性能曲線

ガスケットが焼き付いていたり、破損している場合は、新しい 

物に交換して下さい。

参 考

取扱説明書

○作業に入る前に必ず取扱説明書を熟読して下さい。

○作業中は本書を手元に置き、指示に従って作業を進めて下さい。

○本書は製品を廃棄するまで確実に保管して下さい。

！危険

！注意

参 考

怠ると怪我につながる注意事項を示してあります。

怠ると部品の損傷等につながる注意事項を示してあります。

スムーズに作業を進める上でのポイントや参考となる事項を示してあります。

製品情報ページ

※走行中アフターファイアーが激しく鳴る場合は、エキゾーストパイプ・テールパイプ等の差し込み部に、市販の

　マフラー用液体ガスケット等を塗りシーリングを行って下さい。作業はエンジンが完全に冷えてから行って下さい。

※マフラーが砂や泥で汚れてしまった場合は、マフラーが冷えてから水洗い等で汚れを落として下さい。定期的に

　増し締めを行い、マフラー各部の点検（変形、キズ、車体との干渉等）を行って下さい。

※エンブレム等の色落ちの原因になりますので、パーツクリーナー又は有機溶剤等の使用はご遠慮下さい。マフラ

　ーの脱脂等には、中性洗剤を使用して下さい。

※サイレンサー内部の消音材は消耗品です。消音材が消耗すると音量増加のみでなく、出力の低下にもなります。

　消音材が消耗した場合は、リメイクサービスをご利用いただくことにより、長く安心してご使用いただけます。

　リメイク内容についてはお問い合わせ下さい。また、転倒などによる損傷の場合には、（株）ヨシムラジャパン

　に連絡の上、修理または損傷部品の交換等を行って下さい。

※エンジンを始動する際は、換気の良い所で行うこと。排気ガスにより、一酸化炭素中毒になる恐れがあります。

※エンジン始動時は排気口に手を出したりしないこと。排気ガス中に含まれるグラスウール等が目や手などに

　刺さる恐れがあります。

※エンジン停止時に空吹かしをして止めた場合、マフラー内部に未燃焼ガスが溜まり、着火してテールエンド

　より炎を発する場合があります。テールエンドの先には引火しやすい物が無いことを確認してからエンジン

　を停止して下さい。発火した炎により引火し、爆発や火災が発生する恐れがあります。

！危険

●ヨシムラサイクロンのメンテナンス

！注意

※取付け、取扱いの不注意による返品は、固くお断り致します。

※製品に加工、改造などは絶対行わないで下さい。それらの場合の修理苦情等一切の責任を負いかねます。

※他メーカー製品との適合は行っておりませんので、本製品取付け、使用時に不具合が発生する恐れがありま

　すが、それらの場合の修理苦情等一切の責任を負いかねます。

●２年保証について

※レーシングサイクロンを除く全ての一般公道用サイクロンは保証対象です。オンライン保証登録

　をして頂き、購入日を証明するレシート等を保管して頂くことにより、購入日から２年間の保証

　対象となります。

※登録方法につきましては右記のＱＲコードから又は下記のアドレスよりオンライン保証登録のご

　案内ページを参照して下さい。

※製品については慎重に品質管理を行っておりますが、万一不良・不都合がありましたら保証規定

　に従い保証対応を致しますので、お買い上げ店又は(株)ヨシムラジャパンまでお知らせ下さい。

オンライン保証登録のご案内：http://www.yoshimura-jp.com/products/online-warranty.php

！重要

※マフラーが車体と干渉したままエンジン始動や走行を行うと、火災や転倒などの事故の原因になりますので、

　マフラーが干渉していないことを充分確認して下さい。また、どうしても干渉が避けられない場合や、走行

　中に干渉しているような場合は、直ちに使用を中止し、(株)ヨシムラジャパンのマフラーホットラインまで

　ご連絡下さい。

●「政府認証マフラー」について

※本製品は、騒音規制に適合するため「近接排気騒音」「加速走行騒音」を測定して法規制値をクリアーし、公的

　認証機関の試験に合格した「政府認証マフラー」です。

※詳しくは、ヨシムラジャパン、販売店又はＪＭＣＡ事務局までお問い合わせ下さい。

保証登録のご案内

お問い合わせのご案内

(株)ヨシムラジャパン

・マフラーに関する技術的なご質問、ご相談

・マフラーのリメイクや修理、商品に関するご質問、ご注文

〒243-0303

神奈川県愛甲郡愛川町中津6748

お問い合わせいただく際は、「商品名」「商品番号」「車種」「車両年式」「車両型式」をご確認の上、ご連絡下さい。

お問い合わせ電話番号

０５７０－ ００－ １９５４

⑥ボタンボルト

　Ｍ６×１５

⑦ＳＵＳワッシャ

　Ｍ６

⑤サイレンサー 

　ステー

約60mm

③サイレンサー 

　バンド

④サイレンサーバンド

　用スペーサーラバー

⑧フランジナット

　Ｍ６②サイレンサー

　５．②サイレンサーに①テールパイプを取り付け、⑨マフラ

　　　ースプリングを取り付けて下さい。（ＦＩＧ．４参照）

！危険 スプリングを取り付ける際は、スプリングが工具から外れない

様に充分注意して下さい。（怪我をする恐れがあります）

取り付けの詳細はFIG.5 

を参照して下さい

⑤サイレンサー

　ステー

②サイレンサー ①テールパイプ

⑨マフラースプリング

ＦＩＧ．６

②サイレンサー

取り付けの詳細はFIG.7

を参照して下さい

①テールパイプ

ＦＩＧ．７

車両後側から見た図

車

両

外

側

車

両

内

側

ＦＩＧ．９

ＦＩＧ．８

KAWASAKI Z900RS / Z900RS CAFE Slip-On R-77S サイクロン EXPORT SPEC 政府認証

純正ボルト

純正ワッシャ

純正ナット

タンデムステップ

ブラケット

⑤サイレンサーステー

車名 KAWASAKI Z900RS/Z900RS CAFE

車両型式 2BL-ZR900C

エンジン型式  ZR900BE

認証番号 JMCA1018001140

サイクロン型式 K269S77C1

素材 SUS304 / Ti / カーボン

品番

サテンフィニッシュサイレンサー ：110-269-5W30

メタルマジックサイレンサー ：110-269-5W20

チタンサイレンサー ：110-269-5W80

チタンブルーサイレンサー ：110-269-5W80B

重量

純正サイレンサー ： 2.2 kg

サテンフィニッシュサイレンサー ： 1.8 kg

メタルマジックサイレンサー ： 1.8 kg

チタンサイレンサー ： 1.6 kg

チタンブルーサイレンサー ： 1.6 kg

ＮＯ． 品名 数 品番 ＮＯ． 品名 数 品番

1 テールパイプ 1 115-269-5W00 5 サイレンサーステー 1 161-269-0210

2

サイレンサー（サテンフィニッシュカバー）

1

139-269-5W30 6 ボタンボルトＭ６×１５ 2 803-206-4015

サイレンサー（メタルマジックカバー） 139-269-5W20 7 ＳＵＳワッシャＭ６×１３ 2 812-206-1310

サイレンサー（チタンカバー） 139-269-5W80 8 フランジナットＭ６ 2 823-006-1000

サイレンサー（チタンブルーカバー） 139-269-5W80B 9 マフラースプリング（フローティング） 2 118-001-0000

3 サイレンサーバンド 1 162-22R-G500 ※ スプリング取付工具 1 100-000-0000

4 サイレンサーバンド用スペーサーラバー 1 896-016-0835

　６．③サイレンサーバンドに④サイレンサーバンド用スペー

　　　サーラバーを取り付けてから②サイレンサーに通し、⑥

　　　ボタンボルトＭ６×１５、⑦ＳＵＳワッシャＭ６、⑧フ

　　　ランジナットＭ６を使用して、サイレンサーカバー前端

　　　から約６０ｍｍの位置で⑤サイレンサーステーを仮締め

　　　して下さい。（ＦＩＧ．４，５参照）

※サイレンサーに対してバンドを斜めに取り付けすると、バンド

　が破損する恐れがあります。 

※バンドを仮締めする前に、サイレンサーとバンドの間に隙間が

　無い事を確認して下さい。隙間がある状態でバンドを締めると、

　サイレンサーのカバーが変形する恐れがあります。

！注意

参 考
※サイレンサーバンドにバンド用　スペーサー

　ラバーを取り付ける際、バンドの合わせ目部

　分からはみ出したラバーは、はさみ等で切り

　取って下さい。 

※車両に取り付ける際にサイレンサーバンドの位置を調整するの 

　で、この時点ではバンドを本締めしないで下さい。

　７．組み立てたマフラーを車両に取り付け、純正ボルト、ワッシャ、ナットを使用して、車両のタンデム

　　　ステップブラケットに仮締めして下さい。（ＦＩＧ．６，７参照）

③サイレンサーバンド

触媒 オイル交換 オイルフィルター交換 センタースタンド カウル加工 サイレンサーリメイク

無 可能 可能 純正オプション装着可能 無

ガスケット

純正品 可能

KAWASAKI Z900RS / Z900RS CAFE オプションヒートガード SET

（PARTS NO.194-269-0010)

※写真はプロトタイプです。実際の商品とは異なります。

※写真の車両には、オプションのヒートガードが取り付けられています。

1

2
6

7

8

9

5

34

YOSHIMURA JAPAN CO., LTD.    PRODUCT INSTALLATION INSTRUCTION  MANUAL

Be sure to read the instruction carefully before starting the work. It is necessary to follow the contents to install 

Yoshimura product.

Parts Diagram

4.  Contents:

1.  Product Information :

KAWASAKI Z900RS / Z900RS CAFE EEC SLIP-ON R-77S CARBON END

Z900RS EEC SO R-77S 1/4180606 Z900RS EEC SO R-77S 2/4180606 Z900RS EEC SO R-77S 4/4180606Z900RS EEC SO R-77S 3/4180606

Product information

Optional main stand can be used.

REFERENCE

2.  Applicable Model :
Model Kawasaki Z900RS/Z900RS CAFE

3. Optional Part :
Description

Optional Heat Guard

Part No.

194-269-0010

Before beginning installation, let motorcycle cool down.

Titanium Blue sleeve is colored by anodizing. Handle with care as the color may change. When 

cleaning silencer, use soft cloth with dish soap but do not use metal polish or chemical cleaner. 

CAUTION

Be sure not to damage each part during installation. 

Torque specification must be followed. If neglected, it may cause bolt and nut to fall off and damage to 

Yoshimura product and motorcycle.

CAUTION

CAUTION

CAUTION

Metal Magic sleeve is coated with heat-resistant paint. Handle with care not to be hit or scratched by 

surroundings as the coating may come off. When cleaning silencer, use soft cloth with dish soap but 

do not use metal polish or chemical cleaner. 

CAUTION

Sight From Front

e3 10013G

EEC Approval No.

Metal Magic Sleeve   (SMC)

Satin Finish Sleeve    (SSFC)

Titanium Blue Sleeve (STBC)

: 1F0-269-5W20

: 1F0-269-5W30

: 1F0-269-5W80B

Description

Homologation /

Approved No. 

Part Number

KAWASAKI Z900RS/Z900RS CAFE EEC Slip-On R-77S Carbon End

EURO4 / e3 10013G

Cyclone Type 

Main Material

K269S77C1 

Stainless steel

(SMC)

(SSFC) 

(STBC) 

: 2.4kg 

: 2.2kg

Weight
    [STD : 2.2kg]

No.                         Descriptions                                    Part No.         Q'ty   No.                Descriptions                          Part No.         Q'ty 

1

2

3

4

5

6 

7 

8 

9

1F5-269-5W00 

1F6-269-5W20

1F6-269-5W30

1F6-269-5W80B

162-22R-G500

896-016-0835

161-269-0210

803-206-4015 

812-206-1310 

823-006-1000 

118-001-0000

Tailpipe 

Silencer Assy Metal Magic Sleeve

Silencer Assy Satin Finish Sleeve 

Silencer Assy Titanium Blue Sleeve

Silencer Band

Silencer Band Rubber

Silencer Bracket

Button Bolt M6x15 

Washer M6x13

Flange Nut M6 

Exhaust Spring

1 

1

1 

1

1 

2 

2 

2 

2

4.  Installation steps:

Fig. 1 Fig. 1 

Fig. 2Fig. 2

Fig. 3Fig. 3

Fig. 5Fig. 5

Fig. 4Fig. 4

REFERENCE

REFERENCE

Stock bolt, washer and nut removed at 

this stage are reused when mounting 

Yoshimura slip-on.

Insert KAWASAKI genuine gasket into front of Tailpipe 

and install stock clamp band removed at Step 3) (See 

Fig. 3). 

Use KAWASAKI genuine new exhaust 

gasket.

According to KAWASAKI Service Manual, remove stock 

silencer assembly (See Fig. 1). 

When removing stock silencer assembly, 

be careful not to damage swing arm or 

other components.

CAUTION

CAUTION

Remove stock clamp band from stock silencer assembly 

removed at Step 2) (See Fig. 2). 

Stock clamp band removed at this stage 

is reused when mounting Yoshimura slip-

on.

1)

2)

3)

4)

Check that all the component parts are in hand.

REFERENCE If mounting Optional Heat Guard, go to 

the installation procedure of it at this 

stage.

5)

Make sure that exhaust spring is hooked 

to spring installation tool firmly. If 

neglected, it may cause injury. 

CAUTION

6)

Install Silencer Assy to Tailpipe and fix them with 2 of 

Exhaust Spring (See Fig. 4).

Place Silencer Band Rubbers inside Silencer Band and 

slide them on Silencer Assy as the position to be 60mm 

from front edge (See Fig. 4). Mount Silencer Bracket with  

2 of each Button Bolt M6x15, Washer M6x13, and Flange 

Nut M6 (See Fig. 4 & 5). Tighten the bolts by hand only at 

this stage.

Silencer Bracket

Silencer Band

Silencer Band Rubber

Flange Nut M6
Silencer Assy

Washer M6x13

Button Bolt

M6x15

9) Check that there are proper clearances between 

Yoshimura slip-on and other components. Then, tighten 

and torque stock clamp band, Button Bolt M6x15 and 

stock bolt on Silencer Bracket in order (See Fig. 8 & 9).

CAUTION Torque specification must be followed.

Stock clamp band

Button Bolt M6x15

Stock bolt

: 15Nm

: 10Nm

: 23Nm

8) Mount Silencer Bracket to stock silencer bracket with 

stock bolt, washer and nut (See Fig. 6 & 7). Tighten the 

bolt by hand only at this stage.

Tightening Torque

7) Install Silencer Assy and Tailpipe (assembled at Step. 5 & 

6) to stock tailpipe. Then adjust the position of Silencer 

Bracket to stock silencer bracket, and tighten stock clamp 

band by hand (See Fig. 6 & 7). 

Silencer Band

Silencer Band Rubber

Cut excess of Silencer Band Rubber with 
scissors etc. when placing it inside 
Silencer Band.

CAUTION

CAUTION

CAUTION

Be sure to place Silencer Band at right 

angles to Silencer Assy. If neglected, it 

may cause breakage to Silencer Band. 

Before hand-tighten Silencer Band, make 

sure silencer sleeve and Silencer Band fit 

evenly and there is no opening between 

them.  If neglected, it may cause 

deformation of silencer sleeve.  

When mounting Silencer Band on 
Silencer Assy, make sure to face 

Yoshimura Logo outside.

REFERENCE

Fig. 6Fig. 6

Fig. 7Fig. 7

Fig. 8Fig. 8

Fig. 9Fig. 9

Silencer Assy

Tailpipe

Refer Fig. 7

for installation.

OutsideInside

Sight from back

10) It is recommended that whole Yoshimura slip-on to be wiped down with dish soap to remove oil and fingerprints. 

This will prevent tarnishing of finish after the slip-on is heated up.

When cleaning silencer, use soft cloth with dish soap. Do not use metal polish or parts cleaner. If 

neglect, the paint of Emblem and Metal Magic finish may come off or Titanium Blue color may 

tarnish. 

CAUTION

11) Warm-up engine, and inspect the exhaust leakage. Tighten all bolts and nuts further after engine is cooled down.

12) If "after fire" sounds severely, seal the gaps between Tailpipe and Silencer Assy with silicone gasket etc. Sealing 

gaps further after engine is cooled down.

After Installation

REFERENCE

CAUTION

This exhaust is produced for street use only. In case that it is used on race circuit or tested on chassis dynometer, any 

damage or carbon discoloration is not included in warranty. 

Yoshimura Japan recommends silencer inner wool replacement every 5,000km (3,000miles) in order to get Yoshimura 

exhaust performance fully. Climate, riding condition, and frequency of ride are direct contributing factors for inner wool 

worn out. Keeping high engine revolution also promotes further wool consumption. For silencer repairing, please contact 

local Yoshimura distributor for further information.

Titanium Blue sleeve is colored by anodizing. Handle with care as the color may change. When cleaning silencer, use 

soft cloth with dish soap but do not use metal polish or chemical cleaner. 

CAUTION

- CAUTIONS AFTER INSTALLATION -
Check each bolt sometimes to see that there is no failure condition such as poor tightening. 

Quality control is implemented on all products. If, however, any defect or failure is found, please notify Yoshimura Japan 

through the selling dealer. Necessary technical service or replacing of the product will be made.

Due to improvement, the specifications and price of the product are subject to change without notice.

For any information regarding this product, please address inquiries to Yoshimura Japan Co., Ltd.

        Yoshimura Japan Co., Ltd. 

        6748 Nakatsu, Aikawa, Aiko, Kanagawa 243-0303 Japan

        Web site: http://www.yoshimura-jp.com   E-Mail: yj-world@yoshimura-jp.com

Silencer Bracket

Stock washer

Stock bolt

Stock nut

Stock silencer

bracket

Tailpipe

KAWASAKI genuine gasket

Stock clamp band 

removed at step 3)

Tailpipe

Silencer Assy

Refer Fig. 5

for installation. Exuasut Spring

60mm60mm

*Optional heat guard is not included in this set.

Lot Number

Serial Number

EEC Approval No.


